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QUESTION 1

Refer to the exhibit.

pDC=1#show ip bgp | include r>
BGP table wversion is 5232, local router I[D is 10.9.7.13

Status codes: s suppressed; d damped; h history, * valid;, > best; i - internal,
r - RIB-Tfailure, S5 Stale, m multipath, b backup-path, I RT-Filter,
¥ - best-external, a additional-path, = RIB-compressed,

Origin codes: i - IGP, e - EGP, ? - incomplete

RPKI validation codes: V¥V wvalid, I invalid, N Not found

Network Next Hop Metric LocPrf Weight Path
r>i 209.165.200.226/27 10.8.5.7 0 100 0 i
e 209.165.201.30/27 10.2.7.9 0 0 65001 i
DC=-148

DC-1fshow ip route 209,165.200.226
Routing entry for 209.165.200.226/27
Kncwn via “ospf 1", distance 110, metric 20, type intra area
Last update from 10.0.5.5 on FastEthernet0/0, 01:13:27 ago
Routing Descriptor Blocks:
* 10.0.5.5, from 209.165.200.226, 01:13:27 ago, vis Ethrenet0/5
Route metric is 20, traffic share count is 1

DC-14#

A customer network uses OSPFv2 and MP-BGP protocols A network administrator installs a new Cisco Nexus Switch in
the data center but experiences a BGP RIB failure Which action solves the issue?

A. Change the administrative distance of OSPF to 220
B. Configure the route as a BGP backdoor

C. Use afilter list for OSPF to filter both routes

D. Implement next-hop-self

Correct Answer: D

QUESTION 2

A request to activate the port security database is rejected. Which action do you perform to investigate the cause of the
issue?

A. Enable the auto-learning feature.
B. Use the force option to identify rejected devices.

C. Find conflicting entries between the active and configuration databases.
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D. Verify that devices are fully attached to the active database.

Correct Answer: B

QUESTION 3

A mission-critical server is connected to site A. Connectivity to this server is lost from site B because the MAC route is
missing in the OTV VDC of the Nexus 7000 in site B due to MAC aging. Which action allows the flooding of the
unknown unicast MAC on the Nexus 7000 in the OTV VDC?

A. Use route-map to advertise this MAC statically and redistribute with ISIS.

B. Unknown unicast flooding is not allowed.

C. Use the otv flood mac command to selectively flood traffic for a given MAC.

D. Use the otv isis bfd command to configure BFD protocol.

Correct Answer: B

QUESTION 4

An engineer troubleshoots a Cisco UCS B-Series environment and discovers that the status of the CNA is degraded in
the CLI and the Cisco UCS Manager GUI. What should be done to resolve the issue?

A. Seat the blade server correctly in the chassis.

B. Install the adapter firmware version that is compatible with Cisco UCS Manager.
C. Install the server air baffles correctly.

D. Use the supported adapter on that server model.

Correct Answer: D

QUESTION 5

An engineer must place a Cisco UCS B-Series Server in a single server pool in Cisco UCS Manager. The engineer
creates a qualification policy, but the server is still seen in multiple pools. Which two actions resolve the issue? (Choose
two.)

A. Select the Server Pool Policy Qualification from the qualification drop-down menu in the Server Pool Policy

B. Select the Server Pool Policy from the qualification drop-down menu in the Server Pool Policy Qualification

C. Set the operating system qualifier inside the Server Pool Policy Qualification

D. Set the number of vNICs qualifier inside the Server Pool Policy.
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E. Set the storage capacity qualifier inside the Server Poo. Policy Qualification.

Correct Answer: AC
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